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Answer any five questions
All questions carry equal marks

~-].a)  DefineSupply and discuss the law of supply. Ko A
- b) What is-meant . by demand forecastlng‘? Explam the melhods used m demand

Vet /Forecasting and their limitations, S 2] N
2. How is National Income derived? What is the GDP? What information does it give us
about a nation? What is per capita income? If you wanted to know about the economy of
a country, which would you consider more important, and why? [15]
3 A comﬁény is cons;denng an mvestmenmtﬂ proposal to ms'té:_l,l, new machme The proyect

/will. cost-Rs. 50,000 ‘and-will have: life and no. 'salvage value. Tax ‘ratg_is 50% the. -
company follows straight-line method of depreciation. The net earnings before
depreciation and tax is follows:

Year 1 2 3 4 5
‘ EBDT(RS) ]0 000 11,000 ’ _114.000 _IS,QOQ 25,000

__,.-Evaluate the pro_;ect by using:

‘yPBP  b)ARR  oNPV@i0%  d)IRR ¢ Pl@i0%
4. The Udipi Tiffins Company is contemplating investing Rs.1 million in four new outlets

in Hyderabad. Ranjay Kamat, the firm’s chief financial officer (CFO), has estimated
that investments will pay out cash flows of Rs.2,00, 000 per year for nine years and
A2 nothmg there after:(The cash flows'will-occur at the end-of each year and there will be - A
AL+ no-cash flow aﬁer‘-year 9):Mr. Kamat has determmed that the relevant. d;scount rate'for | ]
/this investment is 15%: This is the rate of return that'the firm can earn at Comparable’ "
projects. Should the Udipi Tiffens Company make the investments in the new outlets?

[15]
¥ Explam the EBIT- EPS analy51s with suitable example. [15]
A 6. lf the use of ﬁnancial leverage magmﬁes the eammgs pcr share under favorab!e : /X
i /economic conditions, why do companies not employ very.large amourit of debt in their: “-..
capital structure. [15]
7 “Break —even analysis is based on a simplified model of a business which is

unrealistic”, Explain and give your answer. [15]
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8.a) What is a BaIance sheet‘? Epram the d[StlﬂCthl’l between tradmg and plj_of" it and loss
W\LJb) - L7 -

2 - Stock purchase for sale (cash purchase) = 3,000, credit purchase 5,000

3 - Wages paid 120,000 (including 20,000 relating to a future year).

4 - Salaries paid 200,000 but due 110,000.

5 - Sales made for cash 600,000 and on credit 800, 000
P 6/~ Depreciation 10 percent on plant & machinery. » - A A TN A
7-Goods costing 20,000-destroyed. hy fire. F - X ‘

E F- g e L 7
’ '8 - Paymeént made to creditors to the value of 200,000 at1o percent dnscount [7+8]
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